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QUIZ

1.	�� Birmingham’s plan is to … cars entering the 
city centre.

	 a) limit
	 b) prevent
	 c) monitor

2.	 What point does Paul Faulkner make?
	 a) �The pandemic has had a major effect on 

business planning.
	 b) �There is no reason why businesses cannot 

recover very soon.
	 c) �Businesses have become more flexible as a 

result of COVID-19.

3.	 How long does he say businesses have been planning to go green?
	 a) They have only just started thinking about it.
	 b) a year or two
	 c) for at least a decade

4.	 Which sentence is true?
	 a) There has been no reduction in carbon emissions from vehicles.
	 b) Carbon emissions from home consumption have risen.
	 c) There is a 50-50 relationship between vehicle and building emissions.

5.	 When does the British government want to make the country carbon neutral?
	 a) It has set no target.
	 b) by 2030
	 c) thirty years from now

6.	What is Chris Stark optimistic about?
	 a) economic recovery after COVID
	 b) the success of climate change policy
	 c) the positive effect of new habits

Answers : 1. b - 2. a - 3. b - 4. b - 5. c - 6. c.


